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61550

B. Com. (Pass Course) 6th Semester
o w.e.f. Academic Session 2018-19

(Current Scheme)

Examination — December, 2024
TAXATION LAW-|i

Paper: 6.01

Time : Three Hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.
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. Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.
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1. Answer the following : 2x8=16

Fr=fafea & Sav 9 -
(a) When can relief U/s 89 be claimed by the
assessee ?

msg%mmmﬂwwmﬂ
FT qHaT & 7

(b) Explain marginal relief in subcharge.
SR # wiq weq @ w0 A 8 7
(c) What is Re-assessment ?
gT: H-feiRer @ @ 7
(d) What is working Partner ?
SER R ECEEE S
(e) What do you mean by HUF property ?
fég srfawifora afta &t duft @ oy Far o § 2

(f) Tax deducted at Source.

ST WM W B FA &
(g) Minimum Alternate Tax (MAT).

AT IHTH F|

(h) What is the penalty for non-filing of return ?
Rest e 7 30 @ oy Iefevg B 7

61550-1,750-(P-7)Q-9)(24) (2



UNIT -
s — |

2. From the following particulars compute the total
income and tax liability of Mr. Raj Kumar, who is 70

years old and disabled, for the Assessment Year

2023-24 : 16
L4
Income from house property (Computed) 70,000
Income from business or profession 10,10,000
Short term Capital gains 10,000
Long term Capital loss in respect of assets 15,000
14,000

Bank Interest on deposits

70 affg ToHAR, N fert B, & T fEver § i
a9 2023-24 % T F M TE FX AR/ B T HIC

2

T g & o (viRf) 70,000
I E T B e g 10,10,000
T G 10,000
P.T.O.

61550-1,750 -(P-7)(Q-9)(24) (3)



15,000

gaRml 3 gy § Qe TN B

ST QU &% =9 14,000
3. Explain different rebates and reliefs under Income Tax
16

Act.

Ffsrqy

UNIT-1I
gy — |l

Compute Taxable income and taX liability of HUF

from the information available from the records of
er old tax

family for the assessment year 2023-24 und
regimes : 16
(i) Profits of family business ¥ 80,000.

(i) Long Term Capital Gains on sale of Land

% 6,50,000.
(iii) Long Term Capital Loss on sale of shares ¥ 40,000.

(iv) Director's fees received by the Karta ¥ 28,000. The

shares in the company were acquired with family

funds.

61550-1,750-(P-7)Q-9)24) (4 )



(v) Long Terms Capital Loss brought forward from

Ay 2019-20 T 30,000.

(vi) Payment of insurance premium on Life of family

members T 80,000.
(vii) Deposit in PPF ¥ 70,000.

(viii)iInterest on Commercial Securities (Gross)

< 28,000.

(ix) Interest on Saving Bank Account ¥ 22,000.

gRER A JEH q W gEel B R W HT-FraRer o
2023-24 3 0 QU aX aey & AN F A I @

T AR H T I

(i) 9RaR & =EEEd & 9 T 80,0001

(i) EE B Ry W qoFA TN A 2 6,50,0001
(iif) oisT B fasba W et T & T 40,0001

(iv)ﬁfﬁizs,ooomgﬁmmnm:ﬁﬁm
e} 3 HY GO T &)

(v) F FErRer af 201920 & w qE W AT A
g T 30,0001
(vi) A 3 weEl 3 ofgm W e d e

I < 80,0001

.T.0.
61550-1.750-(P-7)(Q-9)24)  (5) P.T



e —
(vii) §dsife mifade @ & s 2 70,000

(viii)amorfsaes ofvfdt ox @t (a%) T 28,0001

(ix) o0 9% @ v =7 7 22,0001

S. Define a partnership firm. Discuss the salient fcature%

of taxation of a firm under Section 184. 16

TR o ) gRenfyg AR O/ 184 3 SwrId A
w3 F-Frgior @ g saaEt @ o ST

UNIT -1l

55 — I

6. Describe various types of assessments. 16

HY (IR & =T gt & 9o i

7. Who is an Assessing Officer ? What are his powers and

duties ? 16

g S P Y ¥ 7 s o i a
R & 7

61550-1,750 -(P-7)(Q-9)(24) (6)



E

UNIT - IV =

g — IV

8. What are the circumstances and limitations under
which a claim for refund may arise ? Describe in brief

the procedure for claiming refund of Tax. 16

@ o AR R TR w2 a
ot 3 @ P gEUE H G899 F goi At

9. Describe briefly the procedure of an appeal to the
Commissioner (Appeals). 16

HH (f) $ e ol A FARM # d@dg ¥ o
Flfera

61550-1,750 -(P-7)(Q-9)(24) (7))
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B. Com. (Pass Course) 6th Semester
w. e. f. Academic Session 2018-19
(Current Scheme)

Examination — December, 2024

COST ACCOUNTING - Il
Paper : 6.02

Time : Three hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.

777l & v @7 & ged gl 7F ghtea #v & B g7 of @
W& JoF G [ & g & FwT 59 G99 7 % F R @

gt

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.
TA% IS ¥ 0% 9 g g FW 09 S B SW
AT W W 1 afed b w oA 9

a1 &

61551-1,950-(P-8)(Q-9)(24) P.T.O.



1. Explain the following : 8x2=18

Fr=fofaa & aaemg -

(a) Joint Product

g T

(b) Responsibility Centres

IEfaE g

(c) Profit Volume Ratio

A ST

(d) Shut Down Decision
TR FH F fofg

(e) Abnormal Effectiveness

HIHN I9q
(f) Zero Base Budgeting
LI smafa awres
(8) Absorption Costing

Ha qrTg Ry

(h) Labour Efficiency Variance

e - |
2. Define and explain Joint Product and Byproduct.
Enumerate the methods which may be employed in

costing Joint Products. 16
IR IR T G B e A A I
v ® saRe 9IF T 3 iz 3 T &
o ¥ ?

61551-1,950-(P-8)(Q-9)(24) (2)



3. A product

passes

through

three processes to

completion. These processes one known as A, B and C.

The output of each process is charged to the next
process at price calculated to give a profit of 20% on

the Transfer Price. The output of process C is charged

to finished stock on a similar basis.

There was no partly finished work in any process on

31 Dec. The following information was obtained :

ii Process A | Process B | Process C a

[ Material 4000 6000 2000
Consumed |

Labour | 6000 | 4000 8000

' Stock on Dec. 31 TZOOO 4000 6000

Stock in each process were valued at prime cost. There

was no stock in hand Ist Jan. and the question of

overhead was ignored. On the goods passed into

finished stock ¥ 4,000 remained in hand on Dec. 31,

and the balance has been sold for ¥ 36,000.

Show process Account and calculate reserve for

unrealized profits.

W IWE P A F 2q A shEmelt & P ¥ 3
WM A, B FC AW A A A ¥ wds WA w
IR S AEA B EET G T 20% A A B

61551-1.950-(P-8)(Q-9)(24)

(3)

16

P.T.0.



LT

§ T W At B o ¥ C osPem e Pt e
B S MR T Gt P e B

31 mﬁmmwmﬁwm,m»ﬁ;
mammﬁamaﬂm:

[ Process A | ProcessB_| Processc |
mm__ﬁ_\m 4000 ﬁ 6000 | 2000 ‘,
il 6000 4000 | ~§099"M i
[ml W3 TH A | 2000 4000 | 6000

TF A @ RiE q@ oRem W gt R m
1 SaQ 9 g & WRig 48 o1 a9 SIREd B U W o

Tel o mm fffe ®s & oA § | 4,000 So F AW
31 RE=R % &g F @1 9 36,000 Go F J9 Ay T

YisHAT @TaT 9T T ST W 3 G99 ) IR Ry

UNIT - 1i

g - |l

A contractor makes up his accounts on 31st March

contract No. 100 commenced on 1 July, 2020. The

costing record show the following informations on 31

March, 2021 :

61551-1,950-(P-8)(Q-9)(24) (4)



42,0(@

Material issued

Labour 1,02,00(ﬂ
Other charges 12,500
Administrative Expenses 25,500
Material in hand 4,400 |

A Machine costing 36,000 had been on the site for six

mon

ths. Its working life is estimated at six year and

its final scrap value at ¥ 6,000. A Supervisor who is
paid X 21,600 per annum has spent one-half of his time
at the contract. The contract price was ¥ 4,00,000 and
on 31st March 2021, 2/3 of the contract was completed.

Architect certificate

had been issued
Z 2,00,000. Cash received was 80% of work certified.

Prepare Contract Account.

@ 3% shad 31 A A FET @A NN G @
1gar§,2ozoa?f3$r=ioloomwgamm€f@a31

A1, 2021 # Prefifed eI o< g

covering

16

61551-1,950-(P-8)(Q-9)(24)

(5)

rﬁrifiqa |t 42,000W
19 1,02,000

I T4 12,500

qeTaS g 25,500

g & arl 4,400

P.T.O.



36,000 o G # TH AAA 6 AE 76 3P W W T/H
S fae 6 af ¥ qur srERre T 6,000 Fo Bl TH
TREF 3 R 21,600 To HRay Ao Ferl 8, SIS A

99 39 3% W I ¥ 3W g 4,00,000 Fo A1 T 31
A, 2021 B 3B H 2/3 W gt & TN R &
2,00,000 Fo % 3% H wofer & fe ST RT T TR

B 80% THE W Rear
3 QT SRy

9. (a) Differentiate between Contract Costing Method
and Job Costing Method. 8

3H A R ol S arE R § o saRy
(b) What is Batch Costing Method ? In which
industries it is applied ? 8

e ar fafy wr R ? R Sat § gEew wa@nT &

g7
UNIT -1l
s - i
6. What is Budgetory Control ? Explain its advantages in
a large manufacturing organisation. 16

P & A9 SR

61551-1,950-(P-8)(Q-9)(24)  (6)



7. The Standard Mix of a Product is :

A - 60 units @ 15 paise per unit.
B - 80 units @ 20 paise per unit.
C - 100 units @ 21 paise per unit.

Ten units of finished product should be obtained from
this mix. During the month of Feb, ten mix were

completed and the consumption was :
A - 640 units @ 20 paise per unit.
B - 960 units @ 15 paise per unit.

C - 840 units @ 30 paise per unit.
Actual output was only 90 units. Calculate the material
16

variance.

o AT F T e FreEd @
A - 6038, 1539 ufy 598 A W«
B - 80 3%, 20 ¥ ufty s@s A W H
C - 100 =%, 21 Y@ ofy g8 A T A

=g g ¥ FRX A9 # 10 THRA T B AU FHEQ
7 & =9 g&} 3 10 Mg s T, Red ae @ g

frraa 4t

A-640 3%, 20 38 Uiy 3FR A W A

B - 960 3%, 15 ¥ uf 3 & X &

C - 840 39, 30 49 wfty 39 A W A

TERF X AW B daw 90 FEEA TG
frgeonsr &t o AT

61551-1,950-(P-8)(Q-9)(24) (7 ) P.T.0.



UNIT - Iv

g - IV
8. F

T
\r‘eOrIin the fouowing information ascertain the BEP and
% your answer graphically : 16
Sales : 5,00,000
Variable COSt . 2 OO mo
Fixed cost : 1,50,000

Wlmﬁﬁhﬁ-mﬁmmw
Wmaﬁfwﬁm#:

: 5,00,000

USERIEE L : 2,00,000
R : 1,50,000

9. Write short notes on the following :

e W gt Rl Rifag

(@) Angle of incidence
I99 & H BT

(b) Make or Buy decision
FIe 41 G iy

51551-1,950-(P-8)(Q-9)24 (8)
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B. Com. (Pass Course) 6th Semester
w.e.f. Academic Session 2018.19
(Current Scheme)

Examination — December, 2024
AUDITING

Paper: 6.04

Time : Three Hours ] [ Maximum Marks - 80
Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.

g @ awr 33 @ 5 GOl T ghe T 7 B o oo o
T&l T e 81 g & ST 3 d99 T 38 o R 7@

g7 aah

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

61553-1,550-(P-4)(Q-9)(24)



1. Explain the following : 8x2=16

fr=1 & arEr HT -
(a) Owerall-check
AT AYqr 9au-sid
(b) Audit Note-Book
Sfperor fewoft gras
(c) Interim Audit
SafH e
(d) Leasehold Property
qed W TRy
(e) Vouching of Purchase Book
-8 H g0
(f) Qualities of an auditor
T Sfberh & o
(g) Depreciation
B8l
(h) Qualified report

i faré
UNIT - |

T |

2. "Auditing is a luxury while Accountancy is a

necessity.” Comment and give your opinion. 16
GRS AN o I CEoCr i W pee——
I faae FINT & AT e e HifTY

61553-1,550-(P-4)(Q-9)(24) (2)



3. How will you satisfy yourself that there is suitable
stem of internal check in a large manufacturing

sy

concern with regafd to payment of wages to

labourers 16
PO B = a3 Pl

g SR SuE fHE FRR T
s A o 3 P & gey F e Fre H

IR ST B

UNIT -1l
g — I

4. What are the main objects of verification of Assets ?
What are the duties of an auditor in thisregard 2 16

dufrt & T & ge 98 F1 § ? 3w | ofnw
s FAAL ! |

5. Explain the method of valuation of Goodwill of a
business and point out the duty of an auditor in

respect of valuation of Goodwill. 16

el g A e 3 e H B aeee q
m%g@mﬁmﬁmmmwmm.

UNIT - il

s -l

Discuss briefly the main provisions of the Indian
Companies Act regarding the appointment and
16

removal of an auditor. .
e @ Fg qw P @ @aRE S w

e & T et & Gag #F a AT

61553-1,550-(P-4)(Q-9)(24) ~ ( 3) P.T.O.



7. What are divisible profits ? What are

the legal
Provisions regarding divisible Profits ? 16
AW A @ F ¥ 7 Rwee A A $ wew ¥
E ST ¥ 7
UNIT - IV
g - IV
8. What is Qualified Report ? In what circumstances it is
considered to be necessary ? Give its specimen. 16
T Rife #1 & 7 g5 Ry oRfefd § o ad 2
SHH TH T Sga i
9. What is investigation ? How will you investigate on
behalf of a prospective lender ? 16

STIHET #1 8 ? up FoRA # SR @ I R R
TIHIE H3 ?

-53.1,550-(P-4)(Q-9)(24)  (4)
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61556

B. Com. (Pass Course) 6th Semester
w. e. f. Academic Session 2018-19
(Current Scheme)
Examination — December, 2024

[Optional Papers]
INTERNATIONAL MARKETING
Paper : 6.06 Optional

Time : Three hours ] [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.

o7t & o7 37 @ vEa yhurf 7E ghfad &% & B g7 g @
T8 geEqF frem & ghEr & Iy 39 qay § wE  Rrraa 7@l

g

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

T S A 0F U g0 §T W O I B IW
i g 1 FHREd B R OO % O

a4 2

61556-1.250-(P-4)(Q-9)(24) P.T.O.



1. Explain the following : 2~8=16

s ) aen Hiftw -

(a) Multinational marketing
et o

(b) Economic Risk
IitE iy

(c) Physical Environment
s gatarer

(d) Consumer Products
JTAFN IAT

(e) Test Marketing
s fages

(f) Warehousing of Goods
HE # WIO

(g) Fairs and Exhibitions
T aE A

(h) Promotional Advertising
Had=rE e

UNIT - |
g - |

2. What do vou mean by International marketing ?
Explain factors influencing International marketing. 16

syt fguE A AN W T & 7 Feien e #
qifaa 73 a9 FOH B A Fia

81558-1 250-(P-4)(Q-9)(24) (2)



3. What i1s economic environment ? How does the
cconomic  environment  affect the international

business ? Explain. 16
s qatarer w1 B 7 oTRiE wofewer e TR @
Faiia aEr H TR Ha ® 7 guEEy

UNIT -1l
e -
4. What is product life-cycle ? Explain factors affecting
product life-cycle in international market. 16

IqE AE9-g9% 7 & 7 SIS geR ¥ Iae e
F guifad 13 I 9eh JaABQ)

What do vou understand by International Payments ?
Explain the methods of International payments. 16

FTET A A AW TG ¥ ? e e
fafear aargT)
UNIT -1l

g -l

6. Narrate the different channels of export trading.
Discuss the modern trends in channel decisions. 16

frafa amr & fifv= grost f aag mem-Felm #
W% gafedt F o i

7. Write short notes : 8+8=16
Afera fewoft Hifa
(1) Selecting Foreign Sales Personnel
fazsfl fama #AT | g7
P.T.0O.

61556.1 250-(P-4)(Q-9)(24) (3)



TR St o T
UNIT - 1Iv
e — |V

9. How many

types of fairs and exhibitions exits ? How
should pe p

I'eparations done for them ? 16

mmﬁﬁwmfﬁﬁ%aﬁwﬁéﬁ%?sﬁ%m
ﬁurﬂﬁmnwwﬂm?

61556-1,250-(P-4)(Q-9)(24) (4)
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